Math 1210 — Quiz #9 | Fall 2011

Name: SO O < A

1. Find the Cartesian coordinates of the points (r,6) = (1, %) and (r,6) = (-3, ).
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3. Find the Cartesian equation of the polar curve r = 3 siné.

i
A & ‘ £l N
N = TS~ T - < g I, 5 F9N
L = & ke P W AP - & [ - Pi - [
g\x\&ﬁ \ 3 Z P gl t;"%&g‘r\f—/% = { =5 L=
= @
= PRI
U =3
La
4
¢
§
2 2
T g - i ~ \“_ 2
e — N Z\
[y T . ]
I g |

Qs
TN -t
] -~ i = o
B ' g,(r,\t AN XS

f §
P N { L) o ! L e
h W leconn \we J(“% wve @ <
: . C ¢ .
T by By | ! \ = [r\ 5
oF Casia L /5 CLnT el AT x oy Ao, =)
4. Sketch the polar curve r = 1 + cos@.
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